

FIXED POINTS OF WEAKLY COMMUTING MAPPINGS ON Menger SPACES

By

B. D. Pant*, S. L. Singh** and Rekha Talwar

(Received: September 7, 1993)

ABSTRACT

In this note we prove fixed point theorems for four mappings on a Menger space. These results are good extensions and improvements of Stojakovic [23] and several other known results on metric and Menger spaces.

INTRODUCTION

Sehgal and Bharucha-Reid [16] initiated the study of fixed points in a subclass of probabilistic metric spaces. Subsequently, there has been a steady growth of fixed point theorems in probabilistic metric and Menger spaces (see, for instance, [1], [3], [8], [13], [14], [19]- [21], [23], [24], [27] and a good bibliography may be found in [21]. In fact, fixed point theorems for certain contractive type mappings on Menger spaces with proper choice of the "norm" may be obtained from corresponding results in metric spaces (see, [8] and [14]).

On the other hand, the potential of commuting mappings (see Jungck [10]) was used by various authors to present a number of fixed point theorems in metric spaces by generalizing the spatial structure or the constraints on the mappings. Sessa [17] (see also [11]-[13], [18], [21]) relaxed the concept of commuting to that of weakly commuting mappings (cf. Def.1) and observed that commuting mappings are weakly commuting but not conversely. Recently, two less restrictive concepts than of weak commutativity, in independent formulations [11] and [25], were introduced under the names of compatible mappings and asymptotically commuting mappings.

In this paper we prove common fixed point theorems for four mappings under the condition of weak commutativity. We take only one of the mappings continuous. Our results extend and improve certain results, among others, of [2]-[7], [9], [11], [12], [18], [23], [26] and [27]. The method of proof suggests that our results are valid for asymptotically commuting or compatible mappings.

* Government postgraduate College, Kotdwar - 246149 (Garhwal) U.P. India

** Gurukula Kangri Vishwavidyalaya, Harwar-249404, U.P., India

PRELIMINARIES

A probabilistic metric space (PM-space) is an ordered pair (X, \mathcal{F}) consisting of a nonempty set X and a mapping \mathcal{F} from $X \times X$ to L , the collection of all distribution functions. The value of t at $(u, v) \in X \times X$ is generally represented by $F_{u,v}$ or, for the sake of convenience by $F(u, v)$. The functions $F(u, v)$ are assumed to satisfy the following conditions:-

- (a) $F(u, v; x) = 1$ for all $x > 0, u = v$;
- (b) $F(u, v, 0) = 0$ for all u, v in X ;
- (c) $F(u, v) = F(v, u)$ for all u, v in X ;
- (d) If $F(u, v; x) = 1, F(v, w; y) = 1$ then $F(u, w; x + y) = 1$ for all u, v, w in X and $x, y > 0$.

A Menger space is a triplet (X, \mathcal{F}, t) , where (X, \mathcal{F}) is a PM-space and t is t -norm [15] such that the inequality:

$F(u, w; x + y) \geq t \{F(u, v; x), F(v, w; y)\}$ holds for all $u, v, w \in X$ and all $x \geq 0, y \geq 0$.

For Topological preliminaries on a Menger space, Schweizer and Sklar [15] makes an interesting reading.

Definition 1 [17]. Two self-mappings g and h of a metric space (M, d) are weakly commuting iff

$$d(ghu, hgu) \leq d(hu, gu) \text{ for all } u \in M.$$

Definition 2. Two self-mappings g and h of a PM-space X are weakly commuting iff

$$F(ghu, hgu; x) \geq F(hu, gu; x) \text{ for all } u \in X \text{ and } x > 0.$$

Definition 3 [11]-[12]. Two Self-mappings g and h of a metric space (M, d) are compatible (also called y -asymptotically commuting [25]) iff $\lim_n d(ghu_n, hgu_n) = 0$ when $\{u_n\}$ is a sequence such that $\lim_n hu_n = \lim_n gu_n = y$ for some y in X .

Definition 4 [13]. Two self-mappings g and h of a PM-space X are compatible (also called y -asymptotically commuting) iff $F(ghx_n, hgx_n; x) \rightarrow 1$ for all $x > 0$ whenever $\{x_n\}$ is a sequence in X such that $gx_n, hx_n \rightarrow y$ for some y in X .

Clearly, if g and h commute or weakly commute then they are compatible, but the converse is not true (see [11], [12], [20]).

EXAMPLES

Example 1. Let $M = [1, \infty]$ with the absolute value metric d and let g and h be two mappings on M defined by $gu = 1+2u$ and $hu = 1+4u$.

Then $d(ghu, hgu) = 2 \leq 2u = d(hu, gu)$. Hence the mappings are weakly commuting. Note that g and h do not commute.

In the above example there exists no sequence $\{u_n\}$ in M for which the condition of compatibility (or asymptotic commutativity) may be satisfied. Thus, weakly commuting mappings may be vacuously compatible (or asymptotically commuting).

Example 2. Let $X = [p, q, r]$ and let \mathcal{F} be defined via

$$F(p, r; x) = F(r, p; x) = F(r, q; x) = F(q, r; x)$$

$$= \begin{cases} 0, & \text{if } x \leq 0, \\ \frac{1}{2}, & \text{if } 0 < x \leq 2, \\ 1, & \text{if } x > 2. \end{cases}$$

and

$$F(p, q; x) = F(q, p; x) = \begin{cases} 0, & \text{if } x \leq 0, \\ \frac{1}{2}, & \text{if } 0 < x \leq 3/2, \\ 1, & \text{if } x > 3/2. \end{cases}$$

Then (X, \mathcal{F}, t_m) is a Menger space [14, Ex.3.2]. Let $f, g: X \rightarrow X$ be such that

$$f(p) = f(q) = p, f(r) = q$$

and $g(p) = g(q) = g(r) = p$. Then it can be verified that f and g are weakly commuting but not commuting.

FIXED POINT THEOREMS

Theorem 1. Let (X, \mathcal{F}, t) be a complete Menger space where t is continuous and satisfies $t(x, x) \geq x$ for every $x \in [0, 1]$ and mappings $h, k: X \rightarrow X$, $f: X \rightarrow h(X)$ and $g: X \rightarrow k(X)$ be such that f and g weakly commute with k and h respectively and one of f, g, h, k , be continuous.

Further, let for all $u, v \in X$ and $x \geq 0$

(1) $F(fu, gv; x) \geq t\{F(ku, hv; \phi(x)), t\{F(fu, ku; \phi(x)), F(gv, hv; (\phi(x)))\}\}$ hold, where $\phi: R^+ \rightarrow R^+$ is an increasing function such that $\lim_n \phi^n(x) = \infty$ for all $x > 0$. Then f, g, h and k have a unique common fixed point. Indeed, the pairs (f, k) and (g, h) have unique common fixed points and these two points coincide.

Proof. For $u_0 \in X$, we choose a sequence $\{u_n\}$ in X such that

$$fu_{2n} = hu_{2n+1} = y_{2n} \text{ (say), and}$$

$$gu_{2n-1} = ku_{2n} = y_{2n-1} \text{ (say).}$$

This is valid since $f: X \rightarrow h(X)$ and $g: X \rightarrow k(X)$

By (1), for $x > 0$

$$F(y_{2n}, y_{2n+1}; x) \cong F(fu_{2n}, gu_{2n+1}; x) \\ \geq t \{ F(y_{2n-1}, y_{2n}; \phi(x)), t \{ F(y_{2n}, y_{2n-1}; \phi(x)), F(y_{2n+1}, y_{2n}; \phi(x)) \} \}$$

Using the associativity of t and $t(x, x) \geq x$,

$$F(y_{2n}, y_{2n+1}; x) \geq t \{ F(y_{2n}, y_{2n-1}; \phi(x)), F(y_{2n}, y_{2n+1}; \phi(x)) \} \\ \geq t \{ F(y_{2n}, y_{2n-1}; \phi(x)), t \{ F(y_{2n}, y_{2n-1}; \phi^2(x)), F(y_{2n}, y_{2n+1}; \phi^2(x)) \} \} \\ \geq t \{ F(y_{2n}, y_{2n-1}; \phi(x)), F(y_{2n}, y_{2n+1}; \phi^2(x)) \} \\ \geq \dots \\ \geq t \{ F(y_{2n}, y_{2n-1}; \phi(x), F(y_{2n}, y_{2n+1}; \phi^2(x)) \}$$

Since $F(y_{2n}, y_{2n+1}; \phi^r(x)) \rightarrow 1$ as $r \rightarrow \infty$, we get

$$F(y_{2n}, y_{2n+1}; x) \geq F(y_{2n-1}, y_{2n}; \phi(x)).$$

Similarly

$$F(y_{2n+1}, y_{2n+2}; x) \geq F(y_{2n}, y_{2n+1}; \phi(x)).$$

Thus, in general

$$(2) F(y_n, y_{n+1}; x) \geq F(y_{n-1}, y_n; \phi(x)).$$

Now for $\epsilon > 0$ and positive integers m, n ($m > n$), we have with the application of (1)

$$F(y_n, y_m; \phi(\epsilon)) \geq t \{ F(y_n, y_{n+1}; (\phi(\epsilon) - \epsilon), F(y_{n+1}, y_m; \epsilon)) \} \\ \geq t \{ F(y_0, y_1; \phi^n(\phi(\epsilon) - \epsilon)), F(y_{n+1}, y_m; \epsilon) \} \\ \geq t \{ F(y_0, y_1; \phi^n(\phi(\epsilon) - \epsilon)), t \{ F(y_{n+1}, y_{n+2}; (\phi(\epsilon) - \epsilon), F(y_{n+2}, y_m; \epsilon)) \} \} \\ \geq t \{ f(y_0, y_1; \phi^n(\phi(\epsilon) - \epsilon)), t \{ F(y_0, y_1; \phi^{n+1}(\phi(\epsilon) - \epsilon), F(y_{n+2}, y_m; \epsilon)) \} \} \\ \geq t \{ \dots t \{ \dots t \{ \dots F(y_0, y_1; \phi^{m-1}(\epsilon)) \} \} \}$$

Thus $F(y_n, y_m; \phi(\epsilon)) \rightarrow 1$ as $n \rightarrow \infty$.

Hence $\{y_n\}$ is a Cauchy sequence and it converges to some point z (say) in X . The sequence $Fu_{2n} = hu_{2n+1} \rightarrow z, gu_{2n+1} = ku_{2n} \rightarrow z$.

Let k be continuous. Then $kfu_{2n} \rightarrow kz$ and $k^2u_{2n} \rightarrow kz$. Since f and g commute weakly, for $\epsilon > 0$ we have

$$F(fku_{2n}, kz; \epsilon) \geq t \{ F(fku_{2n}, kfu_{2n}; \epsilon/2), F(kfu_{2n}, kz; \epsilon/2) \} \\ \geq t \{ F(ku_{2n}, fu_{2n}; \epsilon/2), F(kfu_{2n}, kz; \epsilon/2) \} \\ \geq 1 - \lambda \text{ as } kfu_{2n} \rightarrow kz \text{ and } ku_{2n}, fu_{2n} \rightarrow z.$$

Thus $fku_{2n} \rightarrow kz$.

Since $\{k^2 u_{2n}\}, \{fku_{2n}\}$ converge to kz and $\{gu_{2n+1}\}, \{hu_{2n+1}\}$ converge to z , for $\epsilon, \lambda > 0$ there exists $N = N(\epsilon, \lambda)$ such that

$$(3) F(k^2 u_{2n}, fku_{2n}; \phi(\epsilon) - \epsilon) > 1 - \lambda, F(gu_{2n+1}, hu_{2n+1}; \epsilon/2) > 1 - \lambda$$

and $F(gu_{2n+1}, z; \phi(\epsilon) - \epsilon) > 1 - \lambda$ for $n \geq N$.

Now by (1),

$$\begin{aligned} F(fku_{2n}, z; \phi(\epsilon)) &\geq t \{ F(fku_{2n}, gu_{2n+1}; \epsilon), F(gu_{2n+1}, z; \phi(\epsilon) - \epsilon) \} \\ &\geq t \{ t \{ F(k^2 u_{2n}, hu_{2n+1}; \phi(\epsilon)), t \{ F(fku_{2n}, k^2 u_{2n}; \phi(\epsilon)), \\ &\quad F(gu_{2n+1}, hu_{2n+1}; \phi(\epsilon)), F(gu_{2n+1}, z; \phi(\epsilon) - \epsilon) \} \} \\ &\geq t \{ t \{ F(k^2 u_{2n}, fku_{2n}; \phi(\epsilon) - \epsilon), F(fku_{2n}, gu_{2n+1}; \epsilon/2), \\ &\quad F(gu_{2n+1}, hu_{2n+1}; \epsilon/2), t \{ F(fku_{2n}, k^2 u_{2n}; \phi(\epsilon)), \\ &\quad F(gu_{2n+1}, hu_{2n+1}; \phi(\epsilon)) \} \}, F(gu_{2n+1}, z; \phi(\epsilon) - \epsilon) \} \\ &= t \{ F(k^2 u_{2n}, fku_{2n}; \phi(\epsilon) - \epsilon), F(gu_{2n+1}, hu_{2n+1}; \epsilon/2), \\ &\quad F(gu_{2n+1}, z; \phi(\epsilon) - \epsilon) \} \\ &> 1 - \lambda \text{ from (3)}. \end{aligned}$$

Therefore $fku_{2n} \rightarrow z$, proving $kz = z$.

Again by (1),

$$\begin{aligned} &F(fz, gu_{2n+1}; \epsilon) \\ &\geq t \{ F(kz, hu_{2n+1}; \phi(\epsilon)), t \{ F(fz, kz; \phi(\epsilon)), \\ &\quad F(gu_{2n+1}, hu_{2n+1}; \phi(\epsilon)) \} \} \\ &= t \{ F(z, hu_{2n+1}; \phi(\epsilon)), t \{ F(fz, z; \phi(\epsilon)), F(gu_{2n+1}, hu_{2n+1}; \phi(\epsilon)) \} \} \\ &\geq t \{ F(z, hu_{2n+1}; \phi(\epsilon)), t \{ F(fz, gu_{2n+1}; \epsilon), F(gu_{2n+1}, z; \phi(\epsilon) - \epsilon), \\ &\quad F(gu_{2n+1}, hu_{2n+1}; \phi(\epsilon)) \} \} \\ &> 1 - \lambda, \text{ by (3)}. \end{aligned}$$

This implies $fz = z = kz$. Since $f: X \rightarrow h(X)$, there exists a z' in X such that $fz = z = hz'$. So, by (1),

$$\begin{aligned} F(z, gz'; x) &= f(fz, gz'; x) \\ &\geq t \{ F(kz, hz'; \phi(x)), t \{ F(fz, kz; \phi(x)), F(gz', hz'; \phi(x)) \} \} \\ &= t \{ f(z, z; \phi(x)), t \{ F(z, z; \phi(x)), F(gz', z; \phi(x)) \} \} \\ &= F(z, gz'; \phi(x)), \text{ implying} \\ &z = gz' \end{aligned}$$

Also, by the weak commutativity of g and h

$$F(ghz', hgz'; x) \geq F(hz', gz'; x) = F(z, z; x) = 1,$$

giving $gz = ghz' = hgz' = hz$.

Now by (1), we have

$$\begin{aligned} F(z, gz; x) &= F(fz, gz; x) \\ &\geq t \{ F(kz, hz; \phi(x)), t \{ F(fz, kz; \phi(x)), F(gz, hz; \phi(x)) \} \} \\ &= F(z, gz; \phi(x)). \end{aligned}$$

This gives $z = gz$.

Thus z is the common fixed point of f , g , h and k .

A similar proof works for the case when h is continuous instead of k .

We now suppose that f is continuous. In this case $fku_{2n} \rightarrow fz$ and also $f^2u_{2n} \rightarrow fz$. By the weak commutativity of f and k , for $\varepsilon > 0$,

$$\begin{aligned} F(kfu_{2n}; fz; \varepsilon) &\geq t \left\{ F(kfu_{2n}, fku_{2n}; \varepsilon/2), F(fku_{2n}, fz; \varepsilon/2) \right\} \\ &\geq t \left\{ F(fu_{2n}, ku_{2n}; \varepsilon/2), F(fku_{2n}, fz; \varepsilon/2) \right\} \\ &> 1 - \lambda. \end{aligned}$$

Therefore $kfu_{2n} \rightarrow fz$. Now with the application of (1) we can prove $fz = z$.

As in the previous case, one easily shows $hz = gz = z$. Since $g: X \rightarrow k(X)$, there exists z'' in X such that $gz = z = kz''$. Using (1) again we obtain $fz'' = z$. Since f and k commute weakly, for $x > 0$, we have

$$F(fkz'', kfz''; x) \geq F(kz'', fz''; x) = F(z, z; x) = 1,$$

implying

$$z = fz = fkz'' = kfz'' = kz.$$

Thus z is a common fixed point of f , g , h and k . An analogous proof may be furnished when g is taken continuous in place of f .

The uniqueness of z again follows from (1).

Theorem 2. Let (M, d) be a complete metric space and

$$h, k: M \rightarrow M, f: M \rightarrow h(M), g: M \rightarrow k(M)$$

satisfy

$$d(fu, gv) \geq \psi(d(ku, hv), d(fu, ku), d(gv, hv))$$

for all $u, v \in M$, where $\psi: R^+ \rightarrow R^+$ is an increasing function such that ψ^{-1} is right upper semicontinuous, $\psi(x) < x$ and $\lim_{x \rightarrow \infty} (x - \psi(x)) = \infty$ for all $x \in R^+$. If f and g weakly commute with k and h respectively and one of f , g , h , k , is continuous, then f , g , h , and k have a unique common fixed point. Indeed, the pairs (f, k) and (g, h) have unique common fixed points and these two points coincide.

Proof: We note that if (M, d) is a metric space, then induces a mapping $\mathcal{F}: M \times M \rightarrow L$, where $\mathcal{F}(u, v) = F(u, v; x) = H(d - d(u, v))$ where H is a distribution function such that $H(x) = 0$ for $x \leq 0$ and $H(x) = 1$ for $x > 0$. Further, if the t -norm is defined by $t(x, y) = \min\{x, y\}$, then (M, \mathcal{F}, t) is a Menger space. Taking $\psi^{-1} = \phi$, the proof is complete by Theorem 1.

Remark. One may improve Theorems 1-2 by replacing weak commutativity of the maps by their compatibility; and while doing

so, the relevant part of the proof (cf. Th.1) is slightly simplified.

REFERENCES

- [1] Cheng Chun Chang, On a fixed point theorem of contractive type, *Comm. Math. Univ. St. Paul.*, 32(1983), 15-19.
- [2] Shih-Sen Chang and Kang Shi-Kun, on a generalization of Sehgal-Bharucha-Reid-Istrarescu fixed point theorem, *J.Chengdu Univ.Sci. Techno.*, 1 (1983), 103-109.
- [3] R.Dedeic and N. Sarapa, on common fixed point theorems for commuting mappings on Menger spaces, *Radovi Mat.* 4(1988), 269- 278.
- [4] M.L.Diviccaro and S. Sessa, Some remarks on common fixed points of four mappings, *Jñānābha* , 15 (1985), 139-149.
- [5] B.Fisher, Common fixed points of four mappings, *Bull.Inst. Math. Acad. Sinica* 8 (1981), 131-140.
- [6] B.Fisher, common fixed points of four mappings, *Bull. Inst. Math. Acad. Sinica*, 11 (1983),103-113.
- [7] B.Fisher, A common fixed point theorem for four mappings on a compact metric space, *Bull.Inst. Math. Acad. Sinica* 12(1984),249- 252.
- [8] T.L. Hicks, Fixed point theory in probabilistic metric spaces, *Zbornik Radova Prirodno-Matematckog faculteta Novi Sad*, 13(1983), 63-72.
- [9] M.Imdad and M.S. Khan, Fixed point theorems for a class of mappings, *Indian J.Pure Appl. Math.*, 14(1983), 1220-1227.
- [10] G.Jungck, Periodic and fixed points and commuting mapping, *Proc. Amer. Math. Soc.*, 76(1979),333-338.
- [11] G.Jungck, Compatible Mappings and common fixed points, *Internat. J.Math. and Math. Sci.*, 9(1986), 771-779.
- [12] G.Jungck, Common fixed points for commuting and compatible maps on compacta, *Proc. Amer. Math. Soc.*, 103(1988), 977-987.
- [13] S.N. Mishra, Common fixed points of compatible mappings in *PM*- spaces, *Math.Japon.*, 36(1991), 283-289.
- [14] B.Schweizer,H. Sherwood and R.M. Tardiff, Contractions on probabilistic metric spaces: examples and counter-examples, *Stochastica XII-1* (1588), 5-17.
- [15] B.Schweizer and A.Sklar, *Probabilistic Metric Spaces*, North Holland Series, 1983.
- [16] V.M.Sehgal and A.T.Bharucha-Reid, Fixed points of contraction mappings on probabilistic metric spaces, *Math.Systems Theory*, 6(1972), 97-102.
- [17] Salvatore Sessa, On a weak commutativity condition of mappings in fixed point considerations, *Publ.Inst.Math. (Beograd) (N.S.)*, 32 (46) (1982), 149-153.
- [18] Salvatore Sessa and B.Fisher, On fixed points of weakly commuting mappings in compact metric spaces, *Jñānābha* 15(1985), 79-91.
- [19] Zhang Shi-Sheng (Shih-Sen Chang), Basic theory and applications of probabilistic metric spaces (I), *Appl. Math. Mech. (Eng. Edition)*, 9 (1988), No. 2, 123 -133.
- [20] S.L. Singh, S.N. Mishra and B.D. Pant, General fixed point theorems in probabilistic metric and uniform spaces, *Indian J. Math.*, 29(1987), 9-21.
- [21] S.L.Singh and B.D.Pant, Coincidence and fixed point theorems for a family of mapping on Menger spaces and extension to uniform spaces, *Math. Japon.*, 33(1988), 957-973).

- [22] S.L.Singh and S.P.Singh, A fixed point theorem, *Indian J.Pure Appl. Math.* 11 (1980), 1584-1586.
- [23] Mila Stojakovic, Common fixed point theorems in complete metric and probabilistic metric space, *Bull. Austral. Math.Soc.*, 36(1987), 73-88.
- [24] Mila Stojakovic, On some classes of contraction mappings, *Math.Japon.* 33(1988), 311-318.
- [25] B.M.L.Tiwari and S.L. Singh, A note on recent generalizations of Jungck contraction principle, *J.UPGC. Acad. Soc.*, 3(1986), 13-18.
- [26] Ding Xieping, Some common fixed point theorems of commuting mappings, *Math.Sem. Notes Kobe Univ.*, 11(1983), 301-305.
- [27] Ding Xieping, A common fixed point theorem of commuting mappings in probabilistic metric space, *Kexue Tongbao*, 29(1984), 147-150.

